HSC 2001 - Information Processes and Technology

Question 6

6 A passenger in a car travelling in country New South Wales phones a friend in Sydney.
The diagram shows how the call could be transmitted through the telephone system.
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What transmission media, in order from Segment 1 to Segment 4, would be most
appropriate?

(A) Microwave, microwave, optic fibre, twisted-pair cable

(B) Radio, microwave, optic fibre, twisted-pair cable

(C) Radio, radio, twisted-pair cable, coaxial cable

(D) Radio, microwave, twisted-pair cable, coaxial cable

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 21.5 23.2 241 19.1 12.5
B 38.3 48.2 55.2 68.9 82.1
(o3 111 71 4.1 2 0
D 29.1 21.2 16.4 9.7 5.4
N 0 0.3 0.1 0.3 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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